Blue Class — Home Learning — w.b. 8" June 2020

Dear Parents / Carers,

Thank you to everyone who has been sending photographs of the children’s work and letting us know what they have been up to, we love getting these and
you will find some of the photos on the gallery which is part of the school website.

| have prepared a new plan for this week and attached some resources to this plan but | have also put some resources and worksheets on to Purple Mash.
Any of you that are accessing the white rose maths as part of the home learning, will notice that my links for this week are for the alternative plans and not

the fractions, as we have already covered fractions during our first week of home learning.

As usual, please feel free to e-mail blue@beaupre.cambs.sch.uk if you have any questions.

Keep looking after yourselves and don’t forget to keep sending the photos for the newsletter, they are greatly appreciated by everybody.

Miss Carpenter


mailto:blue@beaupre.cambs.sch.uk
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Today we are looking at the book
The Great Kapok Tree written by
Lynne Cherry

Have a look at the front cover and
tell someone what you think the
story might be about, who will the
main character be

The story is on purple mash in the
Blue class folder so that you can
read it for yourself.

Or you can follow the link below to
hear the story
https://www.youtube.com/watch?v

=J1Teb- jTyl

Task 1

Once you have read the story make a list of all the
animals that spoke to the sleeping man.

Put each animals name on a branch of the tree
template that is attached to this plan. Then see if you
can recall the way in which each animal moved and
spoke, | have done one to start you off.

Maths brain warm-up: make a list of all the coins and notes
that we use then put them in order from the smallest amount
to the largest amount.

We are going to be working with money this week so if you
have some coins in your money box you might like to have a
look at them and maybe use them to help you work out your
answers or, you could draw some coins and cut them out.

To start with we are looking at finding the total.

Have a look at the video on white rose maths but you will need
to click on the alternative plan button or follow the link below.
This is because white rose have got fractions as this weeks topic
but we have already covered this in the first week of home
learning (but if you want to do the fractions as an extra that is
finell). Task 1is attached to this plan and you will find the
answers at the end (but don’t look until you have finished all
the questions!).

https://vimeo.com/425620182

Bi Already covered this content?

S
7

Click here to find an altemative plan

Have a look at reading task 2

Task 2

Go back to the story of the great Kapok tree and read it
through again. Think about the reasons why the
animals spoke to the sleeping man. Write and

Maths brain warm up: make a list of objects that you can see
around your house that are cylinders. How many did you find?



https://www.youtube.com/watch?v=J1Teb-_jTyI
https://www.youtube.com/watch?v=J1Teb-_jTyI
https://vimeo.com/425620182
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There are multiple choice answers
so you need to read the text then
choose the answer.

explanation about why they wanted to stop the man
cutting the tree down.

Task 2 is all about finding the difference. You can watch the
white rose maths video by clicking the link below, then have a
go at answering the questions | have attached to the plan.
Remember that you can either count on to find the difference
e.g. if I'm finding the difference between 20p and 40p | can
start at 20 and count on in tens until | get to 20

10 10

AA

20 30 40

https://vimeo.com/425620376

Contractions - these are words that
have an apostrophe of omission
where two words have been joined
to make a shortened version of the
two.

e.g. | am —I'm (the apostrophe of
omission takes the place of the ‘@’ in
the word ‘am’)

they will - they’ll (the apostrophe of
omission takes the place of ‘wi’ in
the word ‘will’)

have a go at reading task 3 and see
if you can match up the
contractions to the original words

Task 3

We are going to think about the setting of the story you
could create a setting picture then write a description
to go with it. It might help to listen to sounds of the
rain forest as you do this, click on the link below

http://downloads.bbc.co.uk/earth/naturelibrary/assets
/t/tr/tropical and subtropical moist broadleaf forest
s/mnel3-08.mp3

Maths brain warm up: times table challenge — write down your
x2, x5 and x10 tables which answer appears in all three tables?

We are going to be finding change today. Have a look at the
video clip on white rose maths to show you how to do this then
have a go at the task that | have attached to the plan.
https://vimeo.com/425620627

Remember to find change you can subtract the cost of an item
from the amount of money that you have to start with

e.g. if | have 50p and | spend 20p the calculation is 50 — 20 = 30
so the change is 30p



https://vimeo.com/425620376
http://downloads.bbc.co.uk/earth/naturelibrary/assets/t/tr/tropical_and_subtropical_moist_broadleaf_forests/mne13-08.mp3
http://downloads.bbc.co.uk/earth/naturelibrary/assets/t/tr/tropical_and_subtropical_moist_broadleaf_forests/mne13-08.mp3
http://downloads.bbc.co.uk/earth/naturelibrary/assets/t/tr/tropical_and_subtropical_moist_broadleaf_forests/mne13-08.mp3
https://vimeo.com/425620627
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Play boggle — how many words can
you make using just the letters in
my grid? You could challenge
someone to play with you

b hjt i

(@)

Task 4.
The story of the great Kapok tree is about the rain

forest. What do you know about the rain forest? What

would you like to know? See if you can fill in the table
attached to the end of this plan.

Maths brain warm up: mental maths challenge — can you find
the answer without writing anything down? 79 -37="?

We are looking at 2 step problems, have a look at the white
rose maths video to show you how to do this then have a go at
the task that | have attached to the plan. Don’t forget to show
your working out for each part of the problem

https://vimeo.com/425620791

Commas in lists - remember that
you can either write a list where
you write each item in a column
e.g.

eggs

bacon

bread

or you can write a list as part of a
sentence e.g. | went to the shop and
bought eggs, bacon and bread.

See if you can put my items into a
sentence using commas to separate
the list

1. Paint pencil paper glue

2. Hat scarf gloves boots

3. Ball doll
teddy

puzzle book

Task 5

Continuing from the previous session we are going to
find out a bit about the rain forest. Click on the link
below and watch the first 4 minutes of the film clip.
Make a list of the words that are used to describe the
setting of the rain forest

https://www.youtube.com/watch?v=InT2qpJRpfs&inde

x=8&list=PLtFOv3uQ2I8YV3JCpCQ76b2x0200xFcRn

Maths brain warm up: countin 100’s forward and backward.
Start at zero and see how far you can go.

We are continuing to look at money problems, think about all
the different ways you have used to find the answers this week
and decide which way is best to solve each problem.
Remember you can always go back and watch the videos again
to help you.



https://vimeo.com/425620791
https://www.youtube.com/watch?v=InT2qpJRpfs&index=8&list=PLtF0v3uQ2I8YV3JCpCQ76b2x02O0xFcRn
https://www.youtube.com/watch?v=InT2qpJRpfs&index=8&list=PLtF0v3uQ2I8YV3JCpCQ76b2x02O0xFcRn
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What | lready know or think | know
3bout the raiforest

What | want to find out:

How | think | can find this out:
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Reading task 2
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Maths task 1

Find the Total

Find the Total

1a. Isla is buying stationary for school.

1b. Suchin is buying bouncy balls.

Is she comect? Explain how you know.

pencil rubber ruler green purple white
10p 5p 20p 20p 50p 10p
® o | © @ O | o
She says, He says,
o If | buy a pencil, a rubber H | buy green, purple and
and a ruler, | will spend 65 white bouncy ball, | will
L . .
& pence in fotal. spend 80 pence in total.
d

Is he correct? Explain how you know.

3a. lzzy has these coins.

20p

Does she have enough money to buy the
basketball?

Explain your answer.

£2 and 25
pence

g

3b. Sage has these coins.

20p 5p

& o

Does she have enough money to buy the
cupcakes?

S50p

Explain your answer. g
= N R
B

X , A
'.‘l" ‘ .a

80 pence -

2a. Kayden is counting his money.

10p 20p 5p 50p

@ o
&

He picks 3 of the amounts shown above.
What is the greatest total he could have?
What is the smallest total he could have?

W

2b. Roshan is counting his money.

10p 50p

XX K

He picks 3 of the amounts shown above.
What is the greatest total he could have?
What is the smallest total he could have?

¢

4a. Jlon is buying food for his party.

4b. Olga is buying balloons for her party.

cake crisps biscuits red blue yellow
£l pence £5 @ £ pounds . 3p
He says, She says,
If | buy cake, crisps and If | buy red, blue and yellow
- - biscuits, | will spend £8 and w balloons, | will spend £5 and
Tt 50p in total. v 82p in total.
e,

Is he comect? Explain how you know,
vy

Is she comect? Explain how you know,
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b~

e~

5Sa. Annie is counting her money.
1 twenty-
pound

> @
note
" .
®:m.. -
. pence

She picks 3 of the amounts shown above.
What is the greatest total she could have?
What is the smallest total she could have?

iy

20p

5b. Pabin is counting his money.

1 five-
pound 2p
note

’ 10
y pence

He picks 3 of the amounts shown above.
What is the greatest total he could have?
What is the smallest total he could have?

7a. Gabby is buying a new ouffit.

7b. Paula is art supplies for her class.

éa. Tim has these coins and nofes.

® -

Does he have enough money fo buy the
bucket and spade?

five
pound
note

Explain your answer. R

g7andé0 0
pence

é6b. Sung-Hee has these coins and notes.

! '

Does she have enough money to buy the
mask and snorkel?

ten
pound
note

20p

Explain your answer.

11 pounds :
and 30p

=) \ ‘
| 17 g

trousers socks jumper | frainers paint pastels clay pencils
4 two- s OO 2 five-
pognd 65p £6 o ‘ pound 87p
coins notes
She says, She says,

If | buy frousers, socks, a
jumper and frainers, | will
spend £16 and 45p in fotal.

Is she comect? Explain how you know.

&

If 1 buy paint, paintbrushes,
clay and pencils, | will spend
£19 and 87p in total.

Is she comect? Explain how you know.
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8a. Kelvin is counting his money.

one
pound

® -

He picks 4 of the amounis shown above.

20p 1p

50p £1

Two of the amounts have the same valuve.

What is the greatest total he could have?
Whoi is the smallest total he could have?

8b. Victor is counting his money.

5. i © NI
pence pence

ten .
pounds

He picks 4 of the amounts shown above.
Two of the amounts have the same value,
What is the greatest total he could have?
What is the smallest total he could have?

10p £1

P

9a. Max has these coins and notes.
i
. pence

Does he have enough money fo buy the
pizza?

2 two-
pound
coins

20p

Explain your answer.

£7 and 22
pence

9b. Eddy has these coins and notes.

4 ten- .
50 B
2p pence pence &.ﬁ

coins

Does he have enough money to buy a
ticket for the waterpark?

Explain your answer.

20 pounds
and 99p
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Maths task 2
Find the Difference

Find the Difference

1a. Hannah is shopping.

A flower costs £2.

'&,{ e

The difference between the price of a
flower and a plant pot is £1.

How much is a plant poi? Prove it.

"

1b. Noah is shopping.

A tennis ball costs 70p.

The difference between the price of a
tennis ball and a golf ball is 20p.

How much is the golf ball? Prove it.

2a. Ray is saving up to buy a windmill. He
thinks he needs another £1.
Is he comrect? Prove it.

2b. Lucy is saving up to buy some sweets.
She thinks she needs another 10p.

Is she comect? Prove it. r

3a. Mia has £4.

These are the coins she has left. What
coin(s) could she have dropped?

Some money has fallen out of her pocket.

&

3b. Ash has é0p.
Some money has fallen out of his pocket.

These are the coins he has left. What
coin(s) could he have dropped?

&

Find the Difference

Find the Difference

4a. lan is shopping.

A baseball cosis £3 and 80p.

<@Q@

The difference between the price of a
baseball and a football is £3 and 10p.

How much is a football? Prove it.

4b. Ali is shopping.

A pineapple costs £3 and 25p.

%{@oﬁ

The difference between the price of a
pineapple and a melon is £1 and 20p.

How much is the melon? Prove it.

5Sa. Joe is saving up fo buy a magic set.

He thinks he needs another 79p.

Is he comect? Prove it.

£
M,
,’b (o)

5b. Leo is saving up to buy a football. He
thinks he needs another £1.
Is he correct? Prove it.

éa. Lee has £5 and 31p.
Some money has fallen out of his pocket.

These are the coins he has left. What
coin(s) could he have dropped?

Give two possibilities.

S

éb. Lola has £12 and 21p.
Some money has fallen out of her pocket.

These are the coins she has left. What
note(s) could she have dropped?

Give two possibilities.

S
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Find the Difference

Find the Difference

7a. Nia is shopping.
A hat costs £2 and 42p.

£2 and
42p

The difference between the price of a hat
and a scarf is £1 and two 20p pieces.

How much is a scarf?

b~

7b. James is shopping.

A truck cosls £4 and 57p.

£4 and
57p

The difference between the price of the
truck and a go kart is £3 and fouwr 5p

pieces.

How much is the go karl? Frove it.

Yo T

8a. Mick is saving uvp fo buy a box of foys.
He thinks he needs another £5 and 8p.
Is he cormrect? Frove it.

8 ?m PETUX N
o

£s
M,
\fap (+/

8b. Anna is saving up to buy a doll. She
thinks she has £1 foo much.
Is she correct? Frove if.

5 &
\r"‘|

©

Two 20p coins

va. chris has £9 ond 22p.
some money has fallen out of his pockel.

nu,'

i

' \

Two lp coins

These are the coins he has left. what
money could he have dropped?
Give two possibilities.

Yazs
bose

¥b. Aleena has £11 and 52p.
Some money has fallen out of her pocket.

£1 1p

Two 10p coins

These are the coins she has lefi. what
coin(s) could she have dropped?

Give two possibilifies.

e rs
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Maths task 3

Find Change

Find Change

1a. Maisie is given 70p fo buy bread.
she is allowed o spend the change.
what can she buy?

=
® e @

@ =9
Soe

|

1b. Jasper is given £1 to buy cheese.
He is allowed to spend the change.
what can he buy?

— & 0@
- (s
CY

Find Change

Find Change

&
C X1 )

2a. ethan has the coins below fo go
shopping.

S« @
Py

The shopkeeper gives Ethan his change.
what coins could he have?

w

2b. Thea has the coin below fo go
shopping.

ﬁ ‘ | have spent S0p.
S e
A b B

The shopkeeper gives Thea her change.
what coins could she have?

& .

4a. Lauren is given £1 fo buy milk.
she is allowed to spend the change.

what can she buy?
g
\ 9 =
il :
N
70p
(¢ -
rAv
‘h.\l’

4b. Karl is given 80p to buy bulter.
He is allowed to spend the change.

what can he buy?
‘ 39p
A D) =
40p
: :J 31p
ST e >

Sa. Hamil has the coins below fo go

® e
.o ve®

The shopkeeper gives Hamil his change.

what coins could he have?

T
=

5b. Niamh has the coins below to go
shopping.

QQ@.@

1 have spent 39p. ’

- 9@ °®

The shopkeeper gives Niamh her change.

what coins could she have?

Tre 2
- 5

y'.

3a. sunita has £1. she buys some sfickers
that cost 70p.

@ o

lneedwpchalge

Is Sunita correct? Explain your answer.

w

3b. Edward has 40p. He buys some
biscuits that cost 30p.

® o
J lneedmpdﬂ'ee

AA”\\ ' v

is Edward correct? Explain your answer.

w

&a. Simon has £1. He buys some sweeis
that cost &9p.

00000

( I need 41p change.

4 K N

Is Simon comrect? Explain your answer.

¢

&b. Pippa has 70p. Sshe buys some
cupcakes that cost 47p.

e @ o @

Is Pippa comrect? Explain your answer.

fﬁr )
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Find Change

Find Change

7a. Alana is given 79p fo buy a boifle of
water. she is allowed to spend the
change. what can she buy?

thirty-nine
pence
- forty-fiv
-five
WIf pence

fifty-three
dia @ forty-seven
pence

7b. Elijah is given 81p to buy a carion of
juice. He is allowed fo spend the change.
what can he buy?

A forty-one

pence
cn

\/ <= forty-three

e &’ pence
thirty-nine
pence

forty-two

pence

8a. Lydia has the coins below fo go
shopping.

2 fofs of 5 lots of 4 lofs of
20p coins 5p coins 2p coins
I have spent forty pence.

The shopkeeper gives Lydia her change.
what coins could she have?

8b. Noah has the coins below o go
shopping.

5 lofs of 7 lots of 9 lots of
10p coins Sp coins 1p coins
Vo | 1have spent fifty-six pence.

The shopkeeper gives Noah his change.

what coins could he have?

9a. Aidan has £1. He buys some crayons
that cosis the amount shown below.

® € o
’0..

~
(I need forty-two pence
= change.
P \

s

Is Aidan comect? Explain your answer.

¥b. Ellie has 93p. She buys a book that
cosls the amount shown below.

e o
‘N K
-2y

1 need twenfy-six pence
- et change.
X J

Is Ellie comrect? Explain your answer.




Blue Class — Home Learning — w.b. 8" June 2020

Maths task 4

Two-Step Problems

Two-Step Problems

1a. Kayden finds a 50p coin.
He pufs it with the 20p he has.

Does he have enough fo buy the pens?

Hee

@ [ @

Explain how you know.

w |

1b. Julianna finds o £2 coin.
She puts it with the £1 coin she has.

Does she have enough fo buy the teddy?
-_—

Explain how you know.

Two-Step Problems

Two-Step Problems

2a. Llina has 40p. @ g Q

Fears are 55p.
How many pears can she buy?

How much change will she gei?

2b. Hamzo has £2. ‘ ‘

Cakes are £1.
How many cakes can he buy?

How much change will he get?

4a. Bradley finds a S0p coin.

He puts it with the 20p coin and 1p coin

he has.

Does he have enough o buy the pencils?

B

sop | 21

Explain how you know.

4b. Jemma finds £5 note.

she puts it with the £2 coin she has.

Does she have enough fo buy the book?

g =

£5 nole

| e

Explain how you know.
S

i
LA

3a. Emily spends £5. which 2 #ems did
she buy?

‘Av ﬁ
a0 C £ { £a
which combination of coins could she
use to pay £57

~ 00808

C

3b. Annabel spends 85p. Which 2 items
does she buy?

A B Cc
| sz

(o o

which combination of coins could she
use fo pay 85p?

. 00099

Peaches are 22p.

How many peaches can she buy?

How much change will she gei?
./\
"1 r4

i~

5b. Jamil has 65p.

Bananas are 25p.

How many bananas

can he buy?

How much change will he get?

A 2

LY

&a. Hassan spends 73p. Which 2 ifems

does he buy?
A
4sp 18
C
28p

31p

which combinafion of coins could he use

to pay 73p?

W

r

|

4b. Annabel spends
does she buy?

A

= |

£11. which 2 items

Co

c { 1‘ £5
|

D
=

wﬁch combinafion of notes and coins

could she use fo pay £11?




Blue Class — Home Learning — w.b. 8" June 2020

Two-Step Problems

Two-Step Problems

7a. Harley finds a £10 note.

He puts it with the £1 coin and the two £2
coins he has.

Does he have enough to buy the art sef?
® -
o
o )
g

Explain how you know.

7b. suzannah finds a £5 note.

she puls it with the £1 coin and £2 coin
she has.

Does she have enough fo buy the yo-yo?

Explain how you know.

8a. Aisha has one 50p coin, ftwo 20p
coins, three 2p coins and fwo 1p coins.

B

-

A windmill is 28p.
How many windmills can she buy?

How much change will she gei?

bl

8b. Hussain has one £20 note, three £1
coins and one £2 coin.

1L

How many robofs can he buy?

A robotis £10.

How much change will he get?

two £1

¥a. Kevin spends £7. Which 2 items does

he buy?
< £5

|

A
= =D
@] o

which combinatfion of coins could he use
fo pay £9, using the least amount of
_ coins?

¥b. Grace spends 73p. Which 2 items
does she buy?

B .
A— One v
44p two 5p ‘
C T .| D
oontte | & 2

|
which combination of coins could she

use fo pay 73p,

<Y

coins?

using the least amount of

.
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Maths task 5

Reasoning — Make the Largest Amount

1. Look at these coins and notes:

5 &
P 0@
® _

What is the largest amount you can make using four of
these coins and notes?

2. Look at these coins and notes:

What is the largest amount you can make using four of
these coins and notes?

3. Look at these coins and notes:

S &
®®. . PO®
_

What is the largest amount you can make using four of
these coins and notes?

4. Look at these coins and notes:

What is the largest amount you can make using four of
these coins and notes?

sl et o b S gt
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Reasoning — Make the Largest Amount

5. Look at these coins and notes:

What is the largest amount you can make using four of
these coins and notes?

6. Look at these coins and notes:

LY .
‘ .
|

What is the largest amount you can make using four of
these coins and notes?

7. Look at these coins and notes:

What is the largest amount you can make using four of
these coins and notes?

8. Look at these coins and notes:

What is the largest amount you can make using four of
these coins and notes?




Blue Class — Home Learning — w.b. 8" June 2020

Reasoning ~ Make the Largest Amount

9. Look at these coins and notes:

gb gi
£ 2 a2 I'T)

What is the largest amount you can make
using four of these coins and notes?

10. Look at these coins and notes:

UG

Whal is the lurgest amount you can make
using four of these coins and notes?

11. Look at these coins and notes:

What is the largest amount you can make
using four of these coins and notes?

12. Look at these coins and notes:

What is the largest amount you can make
using four of these coins and notes?
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Reasoning - Finding Total Amounts using Money

1. Look at these four fruits.

AR A

Hugo buys 3 different fruits.

He spends exactly 80p.

Tick the 3 fruits that he buys.

2. Look at these four fruits.

& &

Maddy buys 3 different fruits.
She spends exactly 90p.

Tick the 3 fruits that she buys.

3. Look at these four fruits.

€aWer

Carlos buys 3 different fruits.
He spends exactly £1.

Tick the 3 fruits that he buys.

4. Look at these four fruits.

= g7 ¢

Lily buys 3 different fruits.

She spends exactly £1.

Tick the 3 fruits that she buys.
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Reasoning - Finding Total Amounts using Money

5. Look at these five fruits.

Saskia buys 3 different fruits.
She spends exactly £1.01.

Tick the 3 fruits that she buys.

6. Look at these five fruits.

Hettie buys 3 different fruits.
She spends exactly £1.20.

Tick the 3 fruits that she buys.

7. Look at these five fruits.

Sam buys 3 different fruits.

He spends exactly £1.01.

Tick the 3 fruits that he buys.

8. Look at these five fruits.

Mikael buys 3 different fruits.
He spends exactly £1.06.

Tick the 3 fruits that he buys.
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Reasoning — Finding Total Amounts using Money

9. Look at these five fruits. 10. Look at these five fruits.

Herman buys 3 different fruits. Polly buys 3 different fruits.

He spends exactly £1.35. She spends exactly £1.40.

Tick the 3 fruits that he bugs. Tick the 3 fruits that she bugs.

11. Look at these five fruits. 12. Look at these five fruits.

S S O e

Jenson buys 3 different fruits. Sadie buys 3 different fruits.
He spends exactly £1.14. She spends exactly £1.08.

Tick the 3 fruits that he buys. Tick the 3 fruits that she buys.
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Task 1

Reasoning and Problem Solving
Find the Difference

Developing

1a. The plant pof could be £1 (£2 - £1) or
f3(g2+£1)

2a. Ray is comect. The windmill is £3 but he
onhy has £2. £2 + £1 = £3.

3a. £1 [or coins fotalling £1).

Expeched

44. The football could be £4 and 70p (£3
and 80p + £3 and 10p) or 70p {£3 and 80p
- £3 and 10p).

5a. Joe is comech The magic set costs £2
and #7p but Joe only has £2 and 20p.

40. Varouws answers, for example:

f2 and £1; 3 x £1; & x 50p. (E3)

Greater Depth
7a. The scarf could be £3 and a2p (£2 and

42p + £1 and 40p) or £1 and 2p (£2 and
42p - £1 and 40p).

8a. Mick is incomect. The box of foys is £a
and 56p but Mick only has £4 and 20p. He
needs £2 and 38p.

fa. Vanouws answers, for example:

£2 and 20p, 2 x £1 and 20p, 4 x 50p and
20p. [£2.20)

Reasoning and Problem Salving
Find the Difference

Developing

1b. The fennis ball could be 50p (TOp -
Z0p) or #¥0p (T0p + 20p).

2b. ey is incomech. The sweels are 50p
but she only has 30p. She needs 20p. 30p
+ 20p = S0p.

3b. 10p (or coins tofalling 10p).

Expected

4k The melon could be £4 and 45p (£3
and 25p + £1 and 20p) or £2 and 5p (£3
and 25p - £1 and 20p).

5b. Leo is incomect. The football is £7 and
15p bt Leo only has £5. He needs £2 and
15p.

&b F1oor2x £5 (£10)

Greater Depth
7b. The go karf covld be £7 and 77p or £1

and 37p.

8b. anna is comact. The doll is £4 and s50p
but Anna has £5 and 50p. She has £1 foo
much.

#b. varicus answers, for example: 20p and
10p and 1p: 3 x 10p and 1p. (31p)

Maths Answers

Reasoning and Problem Solving
Find the Total

la. Isla is incomect becavuse 20p + 10p +
LSp=35p

2a. Greatest total = 80p: smallest total =
i5p

3a. Yes, lzzy has enovugh money. She has
£2 and 25p.

Expected

da. lon is incorrect becavse 51p + £5 + £2
=£7 and 51p.

La. Greatest total = £27; smallest total =
23p

&a. No, Tim does not have enocugh money.
He only has £7 and 50p.

Greater Depth
Ta. Gabby is incomect becavse £8 + 45p +

£4 + £6 =£18 and &5p.

Ba. Greatest total = £9; smallest total = 72p
fa. Yes, Max has encugh money. He has
£% and 22p.

Task 2

Reasoning and Problem Solving
Find the Total

1b. Suchin is corect becavse 20p + 50p +
10p = 80p

2b. Greatest total = £1 and 40p; smallest
total = 45p

3ib. No, Sage does not have enouvgh
money, She only has 75p.

Expected

db. Olga is comrect because £5 + 50p +
32p = £5 and 82p.

Lb. Greatest total = £17; smallest total = 8p
4b. No, Sung-Hee does not have enough
money. She only has £11 and 20p.

Greater Depth
7b. Pavla is comrect becavse £6 + £3 + £10

+87p =£19 and 87p.

8b. Greatest total = £23; smallest total =
T0p

?b. No, Eddie does not have enough
money. He has £20 and ¥2p.
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Task 3

Reasoning and Problem Solving
Find Change

Developing

Ta. Maisie could buy the biscuits or the
dovghnut becawse she has 40p change.
2a. any arrangement of 40p, for example:
10p + 10p + 10p + 10p.

3a. sunita is ncomrect because

£1 - 70p = 30p. She would have 10p foo
much change § she was given 40p.

Expected
da. Lovren could buy the chemies or the

strawbemy becawse she has 30p change.
5a. any arrangement of 43p, for example:
20p + 20p + 2p * 1p.

&a. Simon is incormect because

£1 - 4%p = 31p. He would have 10p foo
much change & he was given 41p.

Greater Depth

7a. alana could buy the bread or the
popcomn because she has 44p change.
8a. Amy armangement of 33p, for example:
10p + 20p + 2p + 1p.

fFa. simon is incorect because

£1 - 57p = 43p. He would need 1p more fo
have the comect change.

Reasoning and Froblem Solving
Find Change

Developing

1b. Jasper could buy the pineapple or the
pear becavse he has £0p change.

2b. Any arangement of 50p, for example:
20p 4+ 20p + 10p.

3b. Edward is incomect because

40p - 30p = 30p. He would need 10p maore
change.

Expected

db. Karl could buy the orange or the
lemaon becavse he has 40p change

5b. any arangement of 41p, for example:
10p #10p + 20p + 1p.

4b. Fippa & incomect because

Jop -47p = 23p. 3he would have 2p foo
much chamge is she was given 25p.

Greater Depth

Th. Elijah could buy the cupcake or the
crisps becavse she has 42p change.

8b. Any amangement of 38p, for example:
10p + 10p + 10p + 5p + 2p + 1p.

#b. Ellie is incomect becouse

#3p - 77p = 14p. 3he would have 10p foo
much change i she was given 24p.

Reasoning and Problem Solving
Two-Step Problems

Developimg

1a. ¥es; he has 70p and the pens are only
40p.

Za. 1 pear; 5p change.

3a. & and C. Varicus coin combinations,
for example: £2 + £2 + £1.

Expecied
44. Mo; he needs 18p more.

5o, 3 peaches; 14p change
40. & and D. Various coin combinations,
for example: 50p + 20p + 2p + 1p.

7a. Yes5; he has £15 and the art sefis £14.
8a. 3 windmills; 14p change
fo.Bond C. £+ E2 +E2 + E2 4+ £1.

Task 4

Reasoning and Problem Solving
Two-Step Problems

Developing
1b. Yes; she has £3 and the teddy is £3.

2b. 2 cokes; no change.
3b_ A and B. Various coim combinafions,
for example: 50p + 20p + 10p and Sp.

Expected

4b. Yes; she has £7 and the book is £&.
5b. 2 bananas; 15p change

&b, & and C. Yarious note and/or coin
combmafions, for example: £10 + £1.

Th. Ho; she needs £2 more.
8b. 2 robots; £5 change
*h. A and D. 50p + 20p + 2p + 1p.
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Task 5

Make the largest amount

Tricky
13 £5.65 5. £11.21 q.
2. £6.40 6. £12.60 10
3. £7.11 7. £13.10 11.
4, £5.09 8. £10.27 12.
Expert

1. Cherry + apple + orange = 80p

2. Apple + plum + kiwi = 90p

3. Green pear + strawberry + orange = £1
4. Strawberry + yellow pear + kiwi = £1

5. Yellow pear + apple + kiwi = £1.01
6. Orange + cherry + kiwi = £1.20

7. Yellow pear + strawberry + orange
=£1.01

8. Cherry + strawberry + orange =
£1.06

9. Yellow pear + strawberry + orange
=£1.35

10. Strawberry + yellow pear + plum =
£1.40

11. Cherry + plum + kiwi = £1.14

12. Strawberry + yellow pear + orange
=£1.08

£11.05
£16.00
£17.02
£20.55



